
Gyakorlás: 
sorozatok, 
időmérés,

szabályjáték 

Ráski Lászlóné



Melyik a kakukk-

tojás?



-5

99, 94, 89, 
-50

990, 940, 890,

-6

72, 66, 60,

-60

720, 660, 600,

84,79, 74, 69, 64, 59, 54, 44,49, 39

840, 790, 740, 690, 640, 590, 540, 490, 440, 390

54, 48, 42, 36, 30, 24, 18, 12, 6, 0

540, 480,420, 360, 300, 240, 180, 120, 60, 0



A 250 420 425 505 440 120 660 210 480

B 250 520 325 400 220 340 550 750

C 500 940 520 960 680 780 400 1000 900

C=A+B

B= C-A

A= C-B

750 905 660

400 300 190 420

340 230 250



https://www.okosdoboz.hu/feladatsor?id=243&select_osztaly_search=1-4-
osztaly&select_tantargy_search=matematika&select_temakor_search=mer
tekegysegek

https://www.okosdoboz.hu/feladatsor?id=243&select_osztaly_search=1-4-osztaly&select_tantargy_search=matematika&select_temakor_search=mertekegysegek

